

CASINO & GAMING

Stack up on indulgence.

Sweet Street desserts are ideal for every daypart throughout your operation: buffets, catering, cafes and coffee stations, classic fine dining and more. Made with only the finest ingredients and always free from high fructose corn syrup, trans fats, GMO's and artificial colors and flavorings, Sweet Street desserts are versatile and decadent. Each dessert adds value to your menu while increasing the odds of delivering your guests a deliciously memorable experience.









Food and beverage revenue makes up about

22%

of a casino's total yearly revenue, and on average, casinos employ 1,200 food and beverage-related employees.

* Nevada Gaming Control Board

Since 1979, Sweet Street has been at the top of their game producing on-trend gourmet desserts that taste great and are made with clean-labeled ingredients. Headquartered in Reading, PA, Sweet Street is owned and operated by Sandy Solmon.

Sandy is also the head of research and development.



'TIS THE SEASON

SEASONAL LTO's excite guests with new, seasonal offerings and generate incremental sales. A great way to celebrate the season or to try a new dessert item for your menu.





PUMPKIN SPICE BUNDT



BOURBON STREET PECAN PIE



Description	SSD Code	Pack	Serving/Cs	Approx. Cost/PC
Peppermint Stack	2721	8/8 ct	64	\$1.98
Pumpkin Cranberry Stack	1768	8/8 ct	64	\$2.15
Pumpkin Spice Bundt	2535	4/9 ct	36	\$2.12
Pumpkin Cranberry Bash®	0543	2/14 ct	28	\$1.98
Pumpkin Swirl Pullman	3159	2/16 ct	32	\$1.08
Bourbon Street Pecan Pie	0267	2/14 ct	28	\$2.08



DON'T FORGET ABOUT A GIFT

GIFT GIVING: A wonderful way to show how thankful you are for someone. The EZ8 Cupcake variety contains a 4 pack of each of the following flavors: Vanilla Bean, Red Velvet, Jelly Roll, Peanut Butter, Lemon Meringue, Celebration. 2 (4 pks) of: Chocolate on Chocolate. (2090)



THE POWER OF GOOD FOOD SHARED

722 Hiesters Lane, Reading, PA 19605 | sweetstreet.com © 2020, Sweet Street. All Rights Reserved.

GRAB 'N GO A MANIFESTO

WHOLESOME, CLEAN INGREDIENT SOURCING. Every batch of our freshly baked Manifesto® cookies, bars and individually wrapped products is made from simple ingredients befitting of your pantry and we go to great lengths ensuring these ingredients are free of additives and GMO's. The retail packs are wonderful addition to any counter and great as a grab 'n go snack.



Description	SSD Code	Pack	Serving/Cs	Approx. Cost/PC
Zoe's Crush Gluten Free Manifesto® Cookie Retail Ready	3433	6/10 ct	60	\$1.41
Lemon Blueberry Manifesto® Cookie Retail Ready	3432	6/8 ct	48	\$1.21
Sandy's Chocolate Chunk Manifesto® Cookie Retail Ready	3431	6/8 ct	48	\$1.21
Salted Caramel Manifesto® Cookie Retail Ready	3430	6/8 ct	48	\$1.21
Honduran Chocolate Manifesto® Brownie Retail Ready	3429	6/10 ct	60	\$1.41
Toffee Crunch Manifesto® Blondie Retail Ready	3428	6/10 ct	60	\$1.41
Peruvian Chocolate Manifesto® Brownie Retail Ready	3427	6/10 ct	60	\$1.41



DINE IN STYLE WITH THESE DESSERTS

FINE DINING. Tempt your guests with photographs that tantalize, mouthwatering descriptions that sell and desserts that will please them all. Don't forget about our free Design Suite menu program, to support your marketing efforts.

-					
	Description	SSD Code	Pack	Serving/Cs	Approx. Cost/PC
	Flourless Chocolate Torte	2544	2/16 ct	32	\$1.50
	Crème Brulée Cheese	1283	2/14 ct	28	\$2.25
	Big Chocolate Cake	1073	2/12 ct	24	\$4.31
	Four High Carrot Cake	1120	2/14 ct	28	\$2.89
	Salted Caramel Vanilla Crunch	2548	2/14 ct	28	\$2.48
	Molten Chocolate Cake	1490	4/9 ct	36	\$2.21
	Big Cheese Brulee	0186	2/14 ct	28	\$2.29
	Key Lime Pie	2500	2/14 ct	28	\$2.14



BIG CHOCOLATE CAKE

LINE UP THE BUFFET WITH INDULGENT DESSERTS

BUFFETS Don't forget to fill your buffet with decadence. From bars and bites to Xangos®, our unsliced products provide versatility so portioning and costs are in your control.









Description	SSD Code	Pack	Serving/Cs	Approx. Cost/PC
Fabulous Chocolate Chunk Brownie®, Unsliced	1047	4 ct	484	\$0.32
Luscious Lemon Squares®, Unsliced	0145	4 ct	484	\$0.30
Brownie Bites	2681	4/121 ct	484	\$0.14
Vanilla Crispy Bread Puddin' Bites	2689	4/121 ct	484	\$0.15
Perfect Petit Fours Variety 1	1388	4/48 ct	192	\$0.43
Petit Fours - Variety 1 - Squares	0531	4/48 ct	192	\$0.40
Original Cheesecake Xango®	7944	48 ct	48	\$1.69

CATER TO EVERY OCCASION

BANQUET/CATERING. Simply thaw, create and serve. Create your own variety trays, tailored to each occasion or event. One variety, so many options.





PERFECT	DETIT	FAURC	VADIFTY	
PERFECT		I NOV7	ALAKITI	•

- !	Description Original Cupcake Variety 2 Vanilla, 2 Chocolate, Red Velvet, Jelly Roll, Peanut Butter Cup, Lemon Meringue	SSD Code 2090	Pack 8/4 ct	Serving/Cs 32	Approx. Cos \$1.55
	EZ8 Variety Summerberry Stack, Choc. PB stack, 7 Layer Bar, Lemon Crumb, Apple Crumb, Totally OREO® Brownie, Fab. Choc. Chunk, Toffee Crunch Blondie"	1526	8 ct	65	\$1.57
	Variety 9 -Pullmans Orange Poppy Cheese, Lemon Glazed, Marble Choc. Chip, Cinnamon Streusel	1186	4/18 ct	72	\$1.05
	Luscious Lemon Squares®, Unsliced	0145	4 ct	484	\$0.30
	New York Cheesecake	0021	4/16 ct	64	\$1.02
i	Macaroon	4060	4/36 ct	144	\$0.74
	Grand Cru® Petit Fours	4030	2/60 ct	80	\$0.89
	Perfect Petit Fours Variety 1	1388	4/48 ct	192	\$0.43
	Perfect Petit Fours Variety 2	1389	4/48 ct	192	\$0.45
	Big Cheese Brulee	0186	2/14 ct	28	\$2.29
	Flourless Chocolate Torte	2544	2/16 ct	36	\$1.50
	Classic Pipeables Variety	1567	6 ct	N/A	\$0.36/oz.



PAIR WITH A CUP OF COFFEE

COFFEE \$\text{SHOP}\$. Don't forget about desserts where you serve coffee. Customers enjoy the sweetness of indulgent desserts on the go- breakfast, mid-day or late night- while sipping on their favorite cup of coffee.







Description	SSD Code	Pack	Serving/Cs	Approx. Cost/PC	
New York Cheesecake	0021	4/16 ct	64	\$1.30	
Chocolate Lovin' Spoon Cake®	0707	2/14 ct	28	\$2.40	E
Chocolate Peanut Butter Pie with REESE'S® Peanut Butter Cups	0620	2/14 ct	28	\$1.94	
Raspberry White Choc Cheese Brulee®	1271	2/14 ct	28	\$2.35	
Molten Chocolate Cake	1490	4/9 ct	36	\$2.21	
Sinfully No-sugar-added Cheesecake	1273	2/16 ct	32	\$2.38	
Cinnamon Crumble Apple Crisp	0243	4 ct	N/A	\$0.29/oz.	
Caramel Apple Granny®	0268	4/14 ct	56	\$2.05	

FRESHNESS FROM THE BAKERY

BAKER'S CHOICE. Grab a delicious sweet treat from the bakery case, a variety of individual cakes, pullmans, scones and croissants. Sweet Street offers many delicious baked goods that would be sure to satisfy any sweet tooth.



Description	SSD Code	Pack	Serving/Cs	Approx. Cost/PC
Individual 13th Sweet Carrot Cake with Cream Cheese	e 3463	4/6 ct	24	\$1.62
Individual Lemon Blueberry Crumb Cake	3465	4/6 ct	24	\$1.62
Individual Classic Coffee Cake	3482	4/6 ct	24	\$1.62
Individual Vegan Banana Struesel Cake	3467	4/6 ct	24	\$1.62
Individual Zucchini Chocolate Chip Cake	3462	4/6 ct	24	\$1.62
Individual Classic Variety Pack Vegan Banana Struesel Cake, Zucchini Choc. Chip Cake, Sweet Carrot Cake with Cream Cheese, Lemon Blueberry Crumb Cake	3468	4/6 ct	24	\$1.62
Variety 9 -Pullmans Orange Poppy Cheese, Lemon Glazed, Marble Choc. Chip, Cinnamon Streusel	1186	4/18 ct	72	\$1.05
Artisan Scone Variety Pack Orange Poppy Cheese, Lemon Glazed, Marble Choc. Chip, Cinnamon Streusel	7933	12/4 ct	48	\$1.33
Classic Butter Croissant, Pre-proofed Multi-grain Croissant, Pre-proofed	6510 6509	54 ct 54 ct	54 54	\$1.12 \$1.13